
Opérations avec deux fractions (I)

Nom: Date: Note:

Calculez chaque résultat.

1.
1
6 +

9
2 =

2.
49
10 ×

4
7 =

3.
30
13 ÷

9
4 =

4.
7
2 −

1
2 =

5.
5
4 ÷

13
5 =

6.
8
3 −

2
3 =

7.
13
8 − 3

2 =

8.
2
7 ×

19
9 =

9.
9
7 ÷

41
9 =

10.
4
9 +

13
3 =
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Opérations avec deux fractions (I) Réponses

Nom: Date: Note:

Calculez chaque résultat.

1.
1
6 +

9
2 = 1

6 +
27
6 = 28

6 = 14
3 = 423

2.
49
10 ×

4
7 = 196

70 = 14
5 = 245

3.
30
13 ÷

9
4 = 30

13 ×
4
9 = 120

117 = 40
39 = 1 139

4.
7
2 −

1
2 = 7

2 −
1
2 = 6

2 = 3
1 = 3

5.
5
4 ÷

13
5 = 5

4 ×
5
13 = 25

52

6.
8
3 −

2
3 = 8

3 −
2
3 = 6

3 = 2
1 = 2

7.
13
8 − 3

2 = 13
8 − 12

8 = 1
8

8.
2
7 ×

19
9 = 38

63

9.
9
7 ÷

41
9 = 9

7 ×
9
41 = 81

287

10.
4
9 +

13
3 = 4

9 +
39
9 = 43

9 = 479

MathsLibres.com


